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50 KET—T B 1 301
60 RKET=TH 1 217
70 RET=TH 2 311
80 ¥ATIRAT 1 87
90 FEHNT IR AT 0 186
100 b ALET 0 131
110 T HT 3 1364
120 ;T AHT 0 237
130 t&FHT 0 393
140 L [E[ET 0 7
150 1 FFrHET 1 323
9999 KB XEt 12 4253
510 AETHT B 0 419
520 HpEEMT 0 153
530 /\F&EHET 1 231
540 15 EHT 0 409
550 FithET 0 353
560 = ZLHT 0 61
570 ZEEHT 0 71
580 HrhHET 0 136
590 kMY 0 63
600 ZEARAT 1 645
610 JZHET 0 156
620 FEET—T B 0 0
630 ¥TEBET=TH 0 2
9999 J\ KX Et 2 2699
1010 X HHT 0 206
1020 Lt FHT 0 338
1030 b T HT 0 353
1040 78 HHET 0 564
1050 £ HHET 2 701
1060 FH _EHT 0 600
1070 F7[RHET 1 693
1080 & HHET 0 425
1090 Hi&HrT 1 653
1100 L BEHT 0 632
1110 f21EHT 0 153
1120 #Z1E JCHT 1 80
1130 +5&HT 0 25
1140 FkJRHET 0 13
1150 #/RET—T B 0 201
1160 F/RETZ=T B 0 239
1170 ;B/KHET 0 162
1180 EE&FLHET 2 232
1190 #&FARHT 0 199
1200 XFHET—TH 0 134
1210 XFHEIZTH 0 168
1220 $FHT 0 148
1230 %KHET 0 173
1240 B EHT 0 120
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1250 fEEHET 0 128
1260 B & 0 43
1270 EEHT 1 105
1280 FRAHET 0 157
1290 $RHET 0 178
1300 & ZEHT 1 145
1310 RILGHET 1 80
9999 KM XET 10 8048
1510 AEHN_E BT 1 790
1520 HEH T BT 2 742
1530 }E#STHT 0 313
1540 K{Z3HT 0 556
9999 FEMNA: X 5t 3 2401
2010 = EERHET 0 187
2020 %= EFGHET 1 306
2030 AT 0 20
2040 ;ET—T H 1 216
2050 ;METZ=TH 0 204
2060 ¥gfEAT 0 39
2070 FxEBT—TH 0 257
2080 +FRETZTH 0 198
2090 THIELHET 1 1844
2100 fhdLHT 0 263
2110 HEWIETET—T B 0 249
2120 HEMIFTETZ—T B 0 313
9999 ZERXET 3 4096
2510 ¥AUEET 3 2342
2520 sk EeHT 1 1436
2530 = /INRHET 0 392
2540 FHi5HT 0 468
2550 ;HHET 1 265
2560 = EHT 0 1001
2570 X SHT 0 89
9999 ME R X ET 5 5993
3010 KATHT 3 1059
3020 ;1T HT 0 1040
3030 _EEFHT 3 866
3040 & _LHET 0 142
3050 wyES AT 3 2428
3060 B THT 0 508
3070 THESEHT 0 541
3080 HHHHT 0 478
3090 H A E AT 0 466
3100 HhFaHET 0 470
3110 EHAILHET 2 484
9999 /\ FHERXET 11 8482
3510 2R LHT 0 193
3520 £ R o 1 386
3530 2R THT 1 1039
3540 &= B KHT 0 405
3550 AETHT 1 801
3560 = T ERAT 0 302
3570 = T FaMT 0 815
3580 FLIFTHT 1 535
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3590 EHT 0 18
9999 S HKXET 4 4494
4010 41| RET 0 331
4020 {E&HT 2 93
4030 5HT 1 237
4040 = HEAHT 1 249
4050 7K EHT 0 514
4060 EZZ HHET 1 379
4070 JtJRHET 0 194
4080 =;T;HAMT 0 233
4090 FR sk HET 0 325
4100 I FFOAT 0 148
4110 JtFFOET 0 172
9999 &I XET 5 2875
4510 EREE—ZEHT 1 747
4520 EREE — ZEHT 1 195
4530 EREE=ZEHT 0 213
4540 EREEIUZEHET 2 182
4550 EREE L FHT 0 112
4560 EREENEHET 0 104
4570 EREE-HFHET 0 154
4580 EREE)\ZHT 0 102
4590 EREE N FEHT 0 152
4600 EREE-+ZEHET 0 213
4610 EREE+—ZHHT 1 252
4620 B+ —FET 0 381
9999 ERERXET 5 2807
5010 BRF0H £ HT 0 234
5020 FRFNBHELET 0 219
5030 FAFNREI{—HT 1 247
9999 BRFIMXET 1 700
5510 b R HET 1 224
5520 = HhHET 1 661
5530 FA = HT 1 502
5540 THEHRT 1 282
5550 FEHET 0 60
9999 =R X 5t 4 1729
6010 [E]ET/MER 0 103
6020 [z]ET = 0 119
6030 [EET &I 0 97
6040 EizEIFHET 2 223
6050 JI|ABTE 0 159
6060 JI|EHETF 1 125
9999 BEERXET 3 826
6510 B &= AFGHET 0 24
6520 HZEAKIEHET 0 215
6530 B E AFTHHET 0 98
6540 HZEALLTHT 0 196
6550 B E A Z NET 0 90
6560 HERAIEILHET 0 130
6570 B & ALERIHET 0 139
6580 H&EAEHT 0 94
6590 HZE ATHET 0 60
6600 HZA T 0 82
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6610 HEA L FEHT 1 41
6620 HZE A FoHET 0 57
6630 HZE AT FGHET 0 81
6640 H &= A EitslT 1 35
6650 HZASHET 0 1
6660 HZ A RLHET 0 28
9999 HEARKKXET 2 1371
7010 Z B MO ET 1 175
7020 — R AHT 0 233
7030 = R IRHNET 0 107
7040 — BT KEFHT 0 202
7050 — B E7 H I HT 1 109
9999 — R&XEt 2 826
8011 JRAETFERLY 0 61
8012 YRABTFHERA 0 140
8013 Y AHTFEER (& 0 78
8021 IRAHTIZEKLY 0 79
8022 YR AHETIEKA 0 3
8023 IRAHTIEKIL 0 9
8031 YAHETH ALY 0 168
8032 IRAHTH A A 0 10
8033 FAHETH AL 0 15
8041 IR AHTELIRL 0 51
8042 IR AHTELIRA 0 22
8043 IR AHTELIR L 0 14
8044 IR AHTELIRIC 0 28
8045 IR AHTELIR 0 48
8050 YR AHTIRA 1 130
8060 YRAETFTi#E 1 110
8070 IJRABTER 0 100
8080 M ABTERHA 0 53
8090 IR AHTHEE 0 39
8100 JRABTTH /1% 0 17
8110 IRAHTJII 5= 0 44
8120 IR AHTER" 1 87
8130 IR AHTH L 0 83
8140 IRAHBTHFRT 0 120
8150 IR AHBTHFRK L 0 76
9999 IRARK X5 3 1585
9010 +THTAKEH 1 640
9020 FTHTHEA 2 423
9030 +THTH & H 1 1339
9040 FTHIHESHE 1 1470
9999 FTHXET 5 3872
9110 SRETTTH & 2 590
9120 SFEETH L 0 264
9130 $EHTH B 0 138
9140 SRET T #F 0 434
9150 $EMT L 45 1 521
9160 SRETERHT 3 785
9170 $RETNH 0 1021
9180 $EMTEE 0 633
9190 $ERTZ O 0 241
9200 5 ET 75 0 231
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9210 $EAT = H 0 394
9220 X ETHH 5 643
9230 $EHTE M 1 731
9240 $EHETIEE 1 265
9250 5% HT At #r b 0 668
9999 S XET 13 7559
9310 E[FHET:AR 1 210
9320 H[ZHETAL 1 233
9330 RFZHET/INE 0 151
9340 R [ZHTR 3 404
9999 WG XET 5 998
9410 RETT & 1 381
9420 RHETHHE 0 211
9430 RETFEXK 1 134
9440 RETAEF 0 8
9450 RHETHER 0 18
9460 RET{—_HE 0 28
9470 RETEXR 0 7
9480 RHETHER 0 49
9999 RIXXEt 2 836
99999 H&ET 100 66450



